Math 231 Calculus 1 Spring 22 Midterm 3a

Name: SOLMhM S

e I will count your best 8 of the following 10 questions.

e You may use a calculator, and a 3 x 5 index card of notes.
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(3) Consider the function f(z) =z + 9
T

(a) Find all critical points of the function.
(b) Use the second derivative test to attempt to classify them
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(4) Consider the function f(z) = e "(2*+1).
(a) Find all vertical and horizontal asymptotes of the function.
(b) Find all the points of inflection.
(¢) Determine the intervals where f(x) is concave up and concave down.

2 {
' . Y A" A
6\) Wo \NU'hULﬂ aildw.@}bk/) Q,“M }_.i i QAW- Ix _ ,Ozl'w- - = és
=20 € o e s €

b Wil anpepbole ab yeo t
W e t’fjw 0:7(47,“): lie Q%FL?—?!):— -
YPr— NP0

Wo Qf.“' l/lav\%wt‘h\ d_nawt, Pl‘b).( .
l") P‘("L): -¢_’x(q,71ﬂ> + g (?,“L)* L”‘(-lz—tlz ~f)
) - - ‘5’1(41*11-0 E Q—hx(—21+2«> = e"(xl-‘f'x +3 )

(*x=3)(z-1)
{d\“HLC\"\'w\ 'PMIA’B O ll .

l 3. (mcave wy C—raul I) L (’3,w>
‘f:x % - -+
U dotn (_(,3)
CEA T - 4
(1"[) = + —+



(5) Find the area under the graph y = 227 + 2 between £ = —2 and = = 3.
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(6) Find the indefinite integral / — — 3e” + 4sin(z) dz.
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(7) Find the indefinite integral / 2V 2 4+ 322 de.
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(8) Find the definite integral / e’ sin(3e”)dz.
0

= L le %

A L A
e q * j € s (n) i@: J\ T 1 g
d 3 3 3@1



9) You wish to enclose a rectangular garden with a brick wall on one side, costing
&

$20/m and wooden fencing on the other three sides, costing $10/m. If the

total area of the garden is 200m?, what are the dimensions which minimize

p_o /W\ the cost?
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(10) Consider the function f(x) defined by the following graph.
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(a) Sketch a graph of f’(z) on the figure.
(b) Label the points of inflection of f(z).

(c) Sketch the graph of f (@) di.
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